THIRUVANANTHAPURAM EDUCATIONAL DISTRICT

MATHEMATICS STANDARD: 10

TANGENTS

1 In the figure the tangent at C and chord AB extended to meet at P.

AB = 5cm PC = 6cm. Find PB

We have AB=...... PC=..... \
PAx. ....= ... BN__"A p
LetPA=x

PB= ...... + ... = ... + ...
PAxPB=...... X
PC*= ...
...... X . = . AL
XX(X+5)=......
X X ..+t XXS5=....
X* 45X ... =0
a= ... b=...... c=




.............

In the figure ABC 1s a right triangle. BP = 3cm , hypotenuse of the

triangle 1s 15cm. Find

(a) Inradius of the circle
(b) Perimeter of triangle

(c) Area of triangle

~BQ=BP=0Q=0P=

. Inradius =

Perimeter of A ABC=AB+ ..... + ..
AB= .. ...+ .. ..

BC= ... +.. ..



AC= ... +....=. ..

. Perimeter of A ABC = ... .. - +

Semi perimeter = ......

Area = Inradius x ... ..

=3x...=

Draw a triangle of sides 7cm , 6cm and Scm. Draw its ineircle and measure
its inradius.

Draw A ABC with AB=7cm BC =
6cm AC = 5cm

Draw the angle bisector of ZA and
/B




Draw a perpendicular from P to AB
and construct the incircle with P centre
and PQ radius

Inradius = ...

4 In the figure PR 1s the diameter of the semi circle; PQ = 4cm, QR = 3cm

a) ZQ= ...
b) PR=1....
¢)-The mnradius of APQR =§

g = PQHQRAPR _ .ot




N

The 1nradius of APQR = % -

In the figure PA is the tangent to the circle. If PB = 4cm, BC = S5cm then
find the length of PA?

A
PB=.....cm
BC=....cm
PC=PB+BC=.... .+ _...=. . .cm
PA* =PBx PC



THIRUVANANTHAPURAM EDUCATIONAL DISTRICT
MATHEMATICS STANDARD: 10
TANGENTS

ANSWERS

Wehave AB=5 PC=6
PA x PB = PC?

Let PA=x BN\ p
PB= PA+AB=x+5
PA x PB =x x (x+5)
PC* =6’
X X (x+5 =6_2
XX (x+5)=36
X XX+ xx5736
x> +5x-36=0
a=1b=5c=-36
b—4dac=5"-4x1 x-36
=25+144 =169

B —b + Vb2 — 4ac

2a

-5 ++169
2x1

X

X =



_ —54VI69  —5—I69
YTTOOx1 2% 1

_ —5+413 —5-13

2x1 °’ 2x1

8
2

Given BP = 3cm Hypotenuse of triangle = 15cm

In figure BQOP is a square
~BQ=BP=0Q=0P=3

- Inradius = 3 cm

Perimeter of A ABC = AB+ BC + AC
AB=BQ+AQ=3+y
BC=BP+PC=3+x
AC=x+y=15

.. Perimeter of A ABC = 3+y + 3+x+ 15

=3+3+x+y+15



=6+15+ 15 =36cm

Semi perimeter = 18cm

Area = Inradius x Semi perimeter

=3x 18 =54cm?
Draw A ABC with AB=7cm BC =
6cm AC = 5cm
c
A B
c
Draw the angle bisector of  £A and
/B
A < >




Draw a perpendicular from P to AB
and construct the incircle with P centre
and PQ radius

Inradius = 1.6cm

a) £Q=90"

b) PR =5cm

c) The inradius of APQR =§

g = PQ+QR+PR._ 443+5 _

The inradius of APQR = % = g

PB=4cm
BC=5cm

PC=PB+BC=4+5=9m

PA’=PBxPC=4x9=3

PA =36 =6cm

6c






